Practice 1. Pause the video when it tells you.

Answer the following questions by drawing place value counters.

1. 625+ 3=

2. 520+ 4=

3. 714:6=

Tens _

4. 918 - 3= (draw the correct place value grid for this one yourself below).



Practice 2. Pause the video when it tells you.

Answer the following questions the methods demonstrated to you.

Have a go m
)963 + 3 =

484 -4 = [2|

2)550 +5=

3804 4=

Y696 - 3 =




Practice 3. Pause the video when it tells you.

Try the following using the flexible partitioning approach.

Have a go

) 684 =- 6 =
2)372 + 3=
3)585 -5 =

Y B72 + Y =



Main activity

1. 429 + 3 =

2.560 + 4 =

3.615 +5 =

b, 764 + 4 =

5.288 +3=

6.670+5=

T.488B + 2 =

8.920+ 4 =

9.363+3=

10. 510 + 5 =

11. 504 + 4 =

12. 642 + 6 =
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Main activity answers



